
División (G)
Calcule los cocientes siguientes.

0
420R92

855)359192
1007R393

951)958050
568R102

457)259678
709R183

483)342630

467R937
980)458597

1522R62
510)776282

5775R4
122)704554

755R351
823)621716

281R660
872)245692

280R458
812)227818

1069R112
617)659685

823R410
583)480219

2154R25
270)581605

1239R6
178)220548

936R386
427)400058

1100R108
782)860308

1386R136
406)562852

346R330
692)239762

462R181
310)143401

1000R369
502)502369

1065R611
881)938876

1319R415
424)559671

827R51
352)291155

1323R78
119)157515

569R350
909)517571

1182R216
792)936360

1449R112
664)962248

479R35
455)217980

250R205
466)116705

758R504
647)490930

911R65
455)414570

332R9
673)223445
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División (G) Respuestas
Calcule los cocientes siguientes.

0
420R92

855)359192
1007R393

951)958050
568R102

457)259678
709R183

483)342630

467R937
980)458597

1522R62
510)776282

5775R4
122)704554

755R351
823)621716

281R660
872)245692

280R458
812)227818

1069R112
617)659685

823R410
583)480219

2154R25
270)581605

1239R6
178)220548

936R386
427)400058

1100R108
782)860308

1386R136
406)562852

346R330
692)239762

462R181
310)143401

1000R369
502)502369

1065R611
881)938876

1319R415
424)559671

827R51
352)291155

1323R78
119)157515

569R350
909)517571

1182R216
792)936360

1449R112
664)962248

479R35
455)217980

250R205
466)116705

758R504
647)490930

911R65
455)414570

332R9
673)223445
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